ASTORIA

ASSEMBLY INSTRUCTIONS

2-WAY 4FT :: 257-FF-2W-4F

EREcccocccc N =55 % )

GRAND + BENEDICTS

503.232.1988 | grand-benedicts.com

PAGE 1 of 5




ASTORIA 2-WAY 4FT :: 257-FF-2W-4F

PART LIST:
A~

e a

L

1X. LEFT URIGHT 1X. RIGHT URIGHT 1X. CENTER URIGHT 2X. LEG 1X. BOTTOM RAIL

S P P

2X. TOP RAIL 20X. HEX BOLT 1/4"-20 X 0.625" 8X. HEX BOLT 3/8"-16 X 0.75" 1X. OPEN END WRENCH  1X. OPEN END WRENCH
FOR 1/4"-20 FOR 3/8"-16

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 2 of 5




ASTORIA

Orienting Uprights for Astoria Floor Fixtures

START HERE

1. Identify the bottom of the
Left and Right uprights by
locating the flange with two
large holes at the base. This
indicates the bottom of these
uprights. See Figure 1.

2. ldentify the Center Upright.
Look for “TOP” stamped on
the Center Upright to face
up. See Figure 2.

3. Before you begin, designate
one side of your assembly
as the front. Arrange the
uprights so that all Offset
Lips are positioned on the
back side. See Figure 3.

4. Ensure the Center Upright's
lips are positioned closest to
the back as well. See Figure 3.

Figure 1

T

OFFSET
UPRIGHT LIP /\g

Figure 2

LARGE HOLES AT THE BASE
OF LEFT & RIGHT UPRIGHT
INDICATE THE BOTTOM

“TOP” STAMP
INDICATES THE TOP OF
CENTER UPRIGHT

Figure 3

VIEW OF OFFSET LIPS ON
UPRIGHTS ALIGNED FROM THE TOP

L
0
L
U
U
0
L
0
L
0
U
0
L
0
L
0
U
0
L
0
U
0

A =N-N-N-E-ENE-N-E-E-E-E-EXNE-FEFX-E-FE-FX-FE-E-FXIXX

>- =N -E-EN-N-E-E-E-E-NE-ENX-EFNE-E-NE-F-X-FE-FN-FXD

WALL
NOTE: The Offset Lips are < g
wh_erf-:' your.back panels will rest. > LEET CENTER RIGHT
If lip is not lined up correctly, UPRIGHT UPRIGHT UPRIGHT
your back panels won'’t be able
to slide in at installation.
LEFT CENTER RIGHT
DO NOT TIGHTEN BOLTS UNTIL YOU ARE UPRIGHT — UPRIGHT UPRIGHT
100% SATISFIED WITH YOUR ASSEMBLY. OFFSET
UPRIGHT LIP
GRAND + BENEDICTS  503.232.1988 | grand-benedicts.com PAGE 3 of 5




ASTORIA 2-WAY 4FT :: 257-FF-2W-4F

STEP 1: STEP 2:

HEX BOLT 1/4"-20 X 0.625"

<« LEFT URIGHT

FINISHED ASSEMBLY

——BOTTOM RAIL

HEX BOLT 3/8"-16 X 0.75"

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 4 of 5




ASTORIA 2-WAY 4FT :: 257-FF-2W-4F

STEP 3: W/ CROSS BRACES

2WAY 4FT

CROSS-BRACES NEED TO
BE MOUNTED TO THE INSIDE
OF CHAMFERED CORNER

HEX BOLT 1/4"-20 X 0.75"

STEP 3: W/ BACK PANELS

BACK PANELS: FINISHED ASSEMBLY
TO INSTALL, SLIDE

UP THEN DOWN

Please note, due to a design limitation, cross-braces cannot be used in
combination with back panels. This issue will be resolved in the next
version.

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 5 of 5




